

Generalization of Some Inequalities for The Gamma Function

Ngo Phuoc Nguyen Ngoc, Nguyen Van Vinh
and Pham Thi Thao Hien

Department of Mathematics Belarusian State University
e-mail: ngochvn@gmail.com, vinhnguyen0109@gmail.com
e mail: hienpham2512@gmail.com

Abstract

An inequality involving the Euler gamma function is presented. This result generalizes several recently published results by C. Alsina and M.S. Tomás, N. V. Vinh, N. P. N. Ngoc.

Mathematics Subject Classification: 33D99, 26D20, 33B15.

Keywords: Gamma function, Psi function, Inequality.

1 Introduction

The Euler gamma function $\Gamma(x)$ is defined for $x > 0$ by

$$\Gamma(x) = \int_0^{\infty} e^{-t} t^{x-1} dt.$$

Psi or digamma function, the logarithmic derivative of the gamma function is defined by

$$\psi(x) = \frac{\Gamma'(x)}{\Gamma(x)}, \quad x > 0.$$

C.Alsina and M.S.Tomás in [1], using a geometrical method, proved the following double inequality:

$$\frac{1}{n!} \leq \frac{\Gamma(1+x)^n}{\Gamma(1+nx)} \leq 1, \quad x \in [0, 1], \quad n \in N. \quad (1)$$

N. V. Vinh and N. P. N. Ngoc in [2], using Dirichlet’s integral, proved the following double inequality

$$\frac{\prod_{i=1}^n \Gamma(1 + \alpha_i)}{\Gamma(\beta + \sum_{i=1}^n \alpha_i)} \leq \frac{\prod_{i=1}^n \Gamma(1 + \alpha_i x)}{\Gamma\left(\beta + \left(\sum_{i=1}^n \alpha_i\right) x\right)} \leq \frac{1}{\Gamma(\beta)} \tag{2}$$

where $x \in [0, 1], \beta \geq 1, \alpha_i > 0, n \in \mathbb{N}$.

2 Main results

We start with the following lemma.

Lemma 2.1 *Let $0 < x \leq y$. Then*

$$\psi(x) \leq \psi(y).$$

Proof. In [4], page 21, we have the following:

$$\psi(x) - \psi(y) = (x - y) \cdot \sum_{n=0}^{\infty} \frac{1}{(x + n)(y + n)}.$$

This proof is complete.

Theorem 2.2 *Let f be a function defined by*

$$f(x) = \frac{\prod_{i=1}^n \Gamma(a_i + b_i x)^{c_i}}{\Gamma\left(d + \left(\sum_{i=1}^n b_i\right) x\right)^e}, \quad x \geq 0 \tag{3}$$

where $c_i, e, i = \overline{1, n}$ are positive real numbers and $a_i, b_i, d, i = \overline{1, n}$ are real numbers such that $e \geq c_i, i = \overline{1, n}, d + \sum_{i=1}^n b_i x \geq a_i + b_i x > 0, i = \overline{1, n}$. If $\psi(d + \sum_{i=1}^n b_i x) > 0$ and $b_i > 0, i = \overline{1, n}$ then the function f is decreasing for $x \geq 0$.

Proof. Let g be a function defined by $g(x) = \ln f(x)$ for $x \in [0, \infty)$.

$$\begin{aligned} g'(x) &= \sum_{i=1}^n c_i b_i \frac{\Gamma'(a_i + b_i x)}{\Gamma(a_i + b_i x)} - e \left(\sum_{i=1}^n b_i\right) \frac{\Gamma'(d + \sum_{i=1}^n b_i x)}{\Gamma(d + \sum_{i=1}^n b_i x)} \\ &= \sum_{i=1}^n c_i b_i \psi(a_i + b_i x) - e \left(\sum_{i=1}^n b_i\right) \psi\left(d + \sum_{i=1}^n b_i x\right) \\ &= \sum_{i=1}^n b_i \left(c_i \psi(a_i + b_i x) - e \psi\left(d + \sum_{j=1}^n b_j x\right)\right). \end{aligned}$$

From Lemma 2.1 we have

$$\psi(a_i + b_i x) \leq \psi(d + \sum_{j=1}^n b_j x).$$

Multiplying both sides of inequality $e \geq c_i$ with $\psi(d + \sum_{j=1}^n b_j x)$ we obtain

$$e\psi(d + \sum_{j=1}^n b_j x) \geq c_i\psi(d + \sum_{j=1}^n b_j x) \geq c_i\psi(a_i + b_i x).$$

Hence,

$$\sum_{i=1}^n b_i \left(c_i\psi(a_i + b_i x) - e\psi(d + \sum_{j=1}^n b_j x) \right) \leq 0.$$

We have $g'(x) \leq 0$. It means that g is decreasing on $[0, \infty)$. This implies that f is decreasing on $[0, \infty)$.

This proof is completed.

Corollary 2.3 *In Theorem 2.2, for $x \in [0, 1]$ the following double inequality holds*

$$\frac{\prod_{i=1}^n \Gamma(a_i + b_i)^{c_i}}{\Gamma\left(d + \left(\sum_{i=1}^n b_i\right)\right)^e} \leq f(x) = \frac{\prod_{i=1}^n \Gamma(a_i + b_i x)^{c_i}}{\Gamma\left(d + \left(\sum_{i=1}^n b_i\right)x\right)^e} \leq \frac{\prod_{i=1}^n \Gamma(a_i)^{c_i}}{\Gamma(d)^e}. \tag{4}$$

Proof. Using Theorem 2.2, we have

$$f(1) \leq f(x) \leq f(0).$$

Thus

$$\frac{\prod_{i=1}^n \Gamma(a_i + b_i)^{c_i}}{\Gamma\left(d + \left(\sum_{i=1}^n b_i\right)\right)^e} \leq f(x) = \frac{\prod_{i=1}^n \Gamma(a_i + b_i x)^{c_i}}{\Gamma\left(d + \left(\sum_{i=1}^n b_i\right)x\right)^e} \leq \frac{\prod_{i=1}^n \Gamma(a_i)^{c_i}}{\Gamma(d)^e}.$$

In a similar way, it is easy to prove the following theorem.

Theorem 2.4 *Let f be a function defined by*

$$f(x) = \frac{\prod_{i=1}^n \Gamma(a_i + b_i x)^{c_i}}{\Gamma\left(d + \left(\sum_{i=1}^n b_i\right)x\right)^e}, \quad x \geq 0 \tag{5}$$

where $c_i, e, i = \overline{1, n}$ are positive real numbers and $a_i, b_i, d, i = \overline{1, n}$ are real numbers such that $e \geq c_i, i = \overline{1, n}$, $d + \sum_{i=1}^n b_i x \geq a_i + b_i x > 0, i = \overline{1, n}$. If $\psi(d + \sum_{i=1}^n b_i x) > 0$ and $b_i < 0, i = \overline{1, n}$ then the function f is increasing for $x \geq 0$.

Corollary 2.5 In Theorem 2.4, for $x \in [0, 1]$ the following double inequality holds

$$\frac{\prod_{i=1}^n \Gamma(a_i)^{c_i}}{\Gamma(d)^e} \leq \frac{\prod_{i=1}^n \Gamma(a_i + b_i x)^{c_i}}{\Gamma\left(d + \left(\sum_{i=1}^n b_i\right)x\right)^e} \leq \frac{\prod_{i=1}^n \Gamma(a_i + b_i)^{c_i}}{\Gamma\left(d + \sum_{i=1}^n b_i\right)^e}. \quad (6)$$

Remark 2.6 Considering (4) with $a_i = 1, c_i = 1, e = 1, b_i = 1, d = 1, i = \overline{1, n}$ we obtain inequality (1).

Remark 2.7 Considering (4) with $a_i = 1, c_i = 1, e = 1, b_i = \alpha_i, d = \beta, i = \overline{1, n}$ we obtain inequality (2).

References

- [1] C. Asina and M.S. Tomás, "A geometrical proof of a new inequality for the gamma function", *J. Ineq. Pure Appl. Math.*, 62 (2005), Art.48.
- [2] N. V. Vinh and N. P. N. Ngoc, "A inequality for the Gamma function", *International Mathematical Forum*, 4, 2009, no. 28, 1379 - 1382.
- [3] Armend Sh. Shabani, "Generalization of some inequalities for the Gamma function", *Mathematical Communications*, 13(2008), 271-275.
- [4] M.A.Chaudhry, S.M. Zubair, "A class of incomplete Gamma function with applications", CRC Press, 2002.
- [5] G. E.Andrews, R. Askey and R. Roy, "Special Functions " ,Cambridge University Press. 1999.